Practice Fed Problems
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
Money

	a.
	is more efficient than barter.

	b.
	makes trades easier.

	c.
	allows greater specialization.

	d.
	All of the above are correct.


____
2.
When we say that trade is roundabout we mean that

	a.
	people sometimes trade goods for goods.

	b.
	trades require a double coincidence of wants

	c.
	currency is accepted primarily to make further trades.

	d.
	people must spend time searching for the products they wish to purchase.


____
3.
Paper money

	a.
	has a high intrinsic value.

	b.
	is the primary medium of exchange in a barter economy.

	c.
	is valuable because it is generally accepted in trade.

	d.
	is valuable only because of the legal tender requirement.


Consider four survivors on an island.

	Rupert
	has machete
	wants fishing spear

	Amber
	has cooking pot
	wants fishing spear

	Rob
	has fishing spear
	wants machete

	Tom
	has cooking pot
	wants machete


____
4.
Which of the following pairs have a double-coincidence of wants with each other?

	a.
	Rupert with Amber, and Rob with Tom

	b.
	Amber with Tom

	c.
	Rupert with Rob

	d.
	None of the above have a double-coincidence of wants.


Consider the following traders who meet.

	Bob
	has an apple
	wants an orange
	

	Ted
	has an orange
	wants a peach
	

	Mary
	has a pear
	wants an apple
	

	Alice
	has a peach
	wants an orange
	


____
5.
Which if any pairs have a double coincidence of wants?

	a.
	Bob with Alice

	b.
	Ted with Alice

	c.
	Bob with Mary, Ted with Bob, and Ted with Alice 

	d.
	None of the pairs above have a coincidence of wants with each other


____
6.
The existence of money leads to 

	a.
	greater specialization in production, but not a higher standard of living.

	b.
	a higher standard of living, but not greater specialization.

	c.
	greater specialization and a higher standard of living.

	d.
	neither greater specialization or a higher standard of living.


____
7.
Changes in the quantity of money affect

	a.
	interest rates

	b.
	prices

	c.
	production

	d.
	All of the above are correct


____
8.
Which of the following is a store of value?

	a.
	currency

	b.
	U.S. government bonds

	c.
	fine art

	d.
	All of the above are correct.


____
9.
Which of the following best illustrates the unit of account function of money?

	a.
	You list prices for candy sold on your Web site, www.sweettooth.com, in dollars.

	b.
	You pay for your WNBA tickets with dollars.

	c.
	You keep $10 in your backpack for emergencies.

	d.
	None of the above is correct.


____
10.
The “yardstick” people use to post prices and record debts is called

	a.
	a medium of exchange.

	b.
	a unit of account.

	c.
	a store of value.

	d.
	liquidity.


____
11.
Mia puts money into a piggy bank so she can spend it later. What function of money does this illustrate?

	a.
	store of value

	b.
	medium of exchange

	c.
	unit of account

	d.
	None of the above is correct.


____
12.
Which of the following best illustrates the medium of exchange function of money?

	a.
	You keep some money hidden in your shoe.

	b.
	You keep track of the value of your assets in terms of currency.

	c.
	You pay for your double latte using currency.

	d.
	None of the above is correct.


____
13.
You get money for babysitting the neighbors' children. This best illustrates which function of money?

	a.
	medium of exchange

	b.
	unit of account

	c.
	store of value

	d.
	liquidity


____
14.
Which of the following is a function of money?

	a.
	a unit of account

	b.
	a store of value

	c.
	medium of exchange

	d.
	All of the above is correct.


____
15.
An item that people can use to transfer purchasing power from the present to the future is called

	a.
	a medium of exchange.

	b.
	a unit of account.

	c.
	a store of value.

	d.
	None of the above is correct.


____
16.
Treasury Bonds are

	a.
	liquid, but not a store of value.

	b.
	a store of value, but not liquid.

	c.
	both liquid and a store of value.

	d.
	neither liquid nor a store of value


____
17.
Which of the following functions of money is also a common function of most other financial assets?

	a.
	a unit of account

	b.
	a store of value

	c.
	medium of exchange

	d.
	None of the above is correct.


____
18.
Economists use the word "money" to refer to

	a.
	income generated by the production of goods and services.

	b.
	those assets regularly used to buy goods and services.

	c.
	the value of a person's assets.

	d.
	the value of stocks and bonds.


____
19.
Liquidity refers to

	a.
	the ease with which an asset is converted to the medium of exchange.

	b.
	a measurement of the intrinsic value of commodity money.

	c.
	the suitability of an asset to serve as a store of value.

	d.
	how many time a dollar circulates in a given year.


____
20.
Which list ranks assets from most to least liquid?

	a.
	currency, fine art, stocks

	b.
	currency, stocks, fine art

	c.
	fine art, currency, stocks

	d.
	fine art, stocks, currency


____
21.
Current U.S. currency is

	a.
	fiat money with intrinsic value.

	b.
	fiat money with no intrinsic value.

	c.
	commodity money with intrinsic value.

	d.
	commodity money with no intrinsic value.


____
22.
Fiat money

	a.
	has no intrinsic value.

	b.
	is backed by gold.

	c.
	has intrinsic value equal to its value in exchange.

	d.
	is any close substitute for currency such as checkable deposits.


____
23.
Commodity money is

	a.
	backed by gold.

	b.
	the principal type of money in use today.

	c.
	money with intrinsic value.

	d.
	receipts created in international trade that are used as a medium of exchange.


____
24.
Fiat money

	a.
	is worthless.

	b.
	has no intrinsic value.

	c.
	may be used as a medium of exchange, but is not legal tender.

	d.
	performs all the functions of money except providing a unit of account.


____
25.
Which type of currency has intrinsic value?

	a.
	commodity money

	b.
	fiat money

	c.
	both commodity money and fiat money

	d.
	neither commodity money nor fiat money


____
26.
If an economy used gold as money, its money would be

	a.
	commodity money, but not fiat money.

	b.
	fiat money, but not commodity money.

	c.
	both fiat and commodity money.

	d.
	neither fiat nor commodity money.


____
27.
The legal tender requirement means that

	a.
	people are more likely to accept the dollar as a medium of exchange.

	b.
	the government must hold enough gold to redeem all currency.

	c.
	people may not make trades with anything else.

	d.
	All of the above are correct.


____
28.
M1 equals currency + demand deposits +

	a.
	nothing else.

	b.
	other checkable deposits.

	c.
	traveler's checks + other checkable deposits.

	d.
	traveler's checks + other checkable deposits + savings deposits.


____
29.
M1 includes

	a.
	currency.

	b.
	demand deposits.

	c.
	travelers' checks.

	d.
	All of the above are correct.


____
30.
Which of the following is not included in M1?

	a.
	currency

	b.
	demand deposits

	c.
	savings deposits

	d.
	travelers' checks


____
31.
Which of the following is not included in M1?

	a.
	currency

	b.
	demand deposits

	c.
	traveler’s checks

	d.
	credit cards


____
32.
Which of the following is included in M2 but not in M1?

	a.
	currency

	b.
	demand deposits

	c.
	savings deposits

	d.
	All of the above are included in both M1 and M2


____
33.
Which of the following is included in M2 but not in M1?

	a.
	demand deposits

	b.
	corporate bonds

	c.
	large time deposits

	d.
	money market mutual funds


____
34.
Which of the following isn’t included in either M1 or M2?

	a.
	U.S. Treasury bills

	b.
	small time deposits

	c.
	demand deposits

	d.
	money market mutual funds


____
35.
Which of the following is included in the M2 definition of the money supply?

	a.
	credit cards

	b.
	money market mutual funds

	c.
	corporate bonds

	d.
	large time deposits


____
36.
Money market mutual funds are included in

	a.
	M1 but not M2.

	b.
	M1 and M2.

	c.
	M2 but not M1.

	d.
	neither M1 or M2.


____
37.
Demand deposits are a type of

	a.
	checking account.

	b.
	time deposit.

	c.
	money market mutual fund.

	d.
	savings deposit.


____
38.
Demand deposits are included in

	a.
	M1 but not M2.

	b.
	M2 but not M1.

	c.
	M1 and M2.

	d.
	neither M1 nor M2.


____
39.
Credit card limits are included in

	a.
	M1 but not M2.

	b.
	M2 but not M1.

	c.
	M1 and M2.

	d.
	neither M1 nor M2.


____
40.
Savings deposits are included in

	a.
	M1 but not M2.

	b.
	M2 but not M1.

	c.
	M1 and M2.

	d.
	neither M1 nor M2.


____
41.
Which of the following is included in both M1 and M2?

	a.
	savings deposits

	b.
	demand deposits

	c.
	small time deposits

	d.
	money market mutual funds


____
42.
Credit cards

	a.
	defer payments.

	b.
	are a store of value.

	c.
	have led to wider use of currency.

	d.
	are part of the money supply.


____
43.
Credit cards

	a.
	are included in M1 but not M2.

	b.
	are included in M1 and M2.

	c.
	are included in M2 but not M1

	d.
	are not included in any measure of the money supply.


____
44.
Debit cards

	a.
	defer payments.

	b.
	are equivalent to credit cards.

	c.
	are included in M2.

	d.
	are used as a method of payment.


____
45.
Which of the following defer payments?

	a.
	credit cards and debit cards

	b.
	neither credit cards or debit cards

	c.
	credit cards but not debit cards

	d.
	debit cards but not credit cards


Use the (hypothetical) information in the following table to answer the following Questions.

Table 29-1
	Type of Money
	Amount

	Large time deposits
	$80 billion

	Small time deposits
	$75 billion

	Demand deposits
	$75 billion

	Other checkable deposits
	$40 billion

	Savings deposits
	$10 billion

	Travelers' checks
	$1 billion

	Money market mutual funds
	$15 billion

	Currency
	$100 billion

	SDRs
	$10 billion

	Miscellaneous categories of M2
	$25 billion


____
46.
Refer to Table 29-1. What is the M1 money supply?

	a.
	$215 billion

	b.
	$216 billion

	c.
	$226 billion

	d.
	$301 billion


____
47.
Refer to Table 29-1. What is the M2 money supply?

	a.
	$125 billion

	b.
	$341 billion

	c.
	$421 billion

	d.
	$431 billion


____
48.
Given the following information, what would be the values of M1 and M2?

	Small time deposits
	$650 billion

	Demand Deposits and other Checkable Deposits
	$300 billion

	Savings-type deposits
	$750 billion

	Money market mutual funds
	$600 billion

	Travelers' checks
	$25 billion

	Large time deposits
	$600 billion

	Currency
	$100 billion

	Miscellaneous Categories in M2
	$25 billion


	a.
	M1 = $400 billion, M2 = $2,475 billion.

	b.
	M1 = $125 billion, M2 = $3,025 billion.

	c.
	M1 = $425 billion, M2 = $2, 450 billion.

	d.
	M1 = $425 billion, M2 = $1,875 billion.


____
49.
The amount of currency per person in the United States is about

	a.
	$200.

	b.
	$800.

	c.
	$1,600.

	d.
	$3,100.


____
50.
In the US there is about $3,100 of

	a.
	currency per person.

	b.
	demand deposits per person.

	c.
	M1 per person.

	d.
	M2 per person.


____
51.
Which of the following might explain why the United States has so much currency per person?

	a.
	U.S. citizens are holding a lot of foreign currency.

	b.
	Currency may be a preferable store of wealth for criminals.

	c.
	People use credit and debit cards more frequently.

	d.
	All of the above help explain the abundance of currency.


____
52.
In the United States, per person

	a.
	average currency holdings are about $800. One explanation for this relatively small average is that money people use credit and debit cards to make transactions.

	b.
	average currency holdings are about $800. One explanation for this relatively small average is that U.S. citizens hold a lot of foreign currency.

	c.
	average holdings of currency are about $3,100. One explanation for this relatively large amount is that criminals may prefer currency as a medium of exchange.

	d.
	average holdings are about $3,100. One explanation for this relatively large average is that U.S. citizens hold a lot of foreign currency.


____
53.
One puzzle about the U.S. money stock is that

	a.
	banks hold so much currency relative to the public.

	b.
	the public holds so much currency relative to banks.

	c.
	there is so little currency per person.

	d.
	there is so much currency per person.


____
54.
The agency responsible for regulating the money supply in the United States is

	a.
	the Comptroller of the Currency.

	b.
	the U.S. Treasury.

	c.
	the Federal Reserve.

	d.
	the U.S. Bank.


____
55.
The Federal Reserve does all except which of the following?

	a.
	control the supply of money

	b.
	control the value of money

	c.
	make loans to individuals

	d.
	regulate the banking system


____
56.
Members of the Board of Governors

	a.
	are appointed by the U.S. president, while presidents of the Federal Reserve regional banks are appointed by the banks' boards of directors.

	b.
	are appointed by the banks' boards of directors while the presidents of the Federal Reserve regional banks are appointed by the U.S. president.

	c.
	and the presidents of the Federal Reserve regional banks are appointed by the U.S. president.

	d.
	and the presidents of the Federal Reserve regional banks are appointed by the banks' boards of directors.


____
57.
Each Federal Reserve District Bank president is appointed by

	a.
	the US president with the approval of the Senate.

	b.
	the Board of Governors.

	c.
	the voting members of the FOMC.

	d.
	each bank's board of directors.


____
58.
Which of the following executes open-market operations?

	a.
	Board of Governors

	b.
	New York Federal Reserve Bank

	c.
	The FOMC

	d.
	None of the above is correct.


____
59.
What part of the Fed meets to discuss changes in the economy and determine monetary policy?

	a.
	the Board of Governors

	b.
	the FOMC

	c.
	the regional Federal Reserve Bank presidents

	d.
	the Central Bank Policy Commission.


____
60.
The New York Federal Reserve Bank

	a.
	president always gets to vote at the FOMC meetings.

	b.
	conducts open market transactions.

	c.
	is located in the traditional financial center of the United States.

	d.
	All of the above are correct.


____
61.
The Board of Governors

	a.
	is currently chaired by Paul Volcker.

	b.
	are appointed by the president and confirmed by the Senate.

	c.
	has twelve members.

	d.
	All of the above are correct.


____
62.
Which of the following is correct?

	a.
	The Federal Reserve has 14 regional banks. The Board of Governors has 12 members who serve 7-year terms.

	b.
	The Federal Reserve has 14 regional banks. The Board of Governors has 7 members who serve 14-year terms.

	c.
	The Federal Reserve has 12 regional banks. The Board of Governors has 12 members who serve 7-year terms.

	d.
	The Federal Reserve has 12 regional banks. The Board of Governors has 7 members who serve 14-year terms.


____
63.
Which of the following statements about the Federal Reserve is not correct?

	a.
	The members of the Board of Governors are also presidents of the Federal Reserve's regional banks.

	b.
	The Federal Open Market Committee makes monetary policy.

	c.
	All members of the Board of Governors sit on the Federal Open Market Committee.

	d.
	The Federal Reserve serves as a bank regulator.


____
64.
Which of the following has a four-year term?

	a.
	the members of the Board of Governors

	b.
	the Chair of the Board of Governors

	c.
	the members of the FOMC

	d.
	All of the above are correct.


____
65.
The 12 regional Federal Reserve Banks

	a.
	are not allowed to make loans to banks in their districts.

	b.
	regulate banks in their districts.

	c.
	have more voting members on the FOMC than does the Board of Governors.

	d.
	are each headed by a member of the Board of Governors.


____
66.
Which of the following does the Federal Reserve not do?

	a.
	conduct monetary policy

	b.
	act as a lender of last resort

	c.
	convert Federal Reserve Notes into gold

	d.
	serve as a bank regulator


____
67.
The Federal Open Market Committee is made up of 

	a.
	5 Federal Reserve Regional Bank Presidents and all the members of the Board of Governors.

	b.
	5 Federal Reserve Regional Bank Presidents and 5 members of the Board of Governors.

	c.
	12 Federal Reserve Regional Bank Presidents and all the members of the Board of Governors.

	d.
	12 Federal Reserve Regional Bank Presidents and 5 members of the Board of Governors.


____
68.
Which of the following is not always a voting member of the FOMC?

	a.
	the president of the New York Federal Reserve District Bank

	b.
	the Chairman of the Board of Governors

	c.
	a member of the Board of Governors other than the chair

	d.
	the president of the Boston Federal Reserve District Bank


____
69.
Monetary policy affects employment

	a.
	only in the long run.

	b.
	only in the short run.

	c.
	in both the long run and the short run.

	d.
	in neither the long run nor the short run.


____
70.
The Fed’s primary tool to change the money supply is

	a.
	changing the discount rate.

	b.
	changing the reserve requirement.

	c.
	conducting open market operations.

	d.
	redeeming Federal Reserve notes.


____
71.
When the Federal Reserve conducts open-market operations to increase the money supply, it

	a.
	redeems Federal Reserve notes.

	b.
	buys government bonds from the public.

	c.
	raises the discount rate.

	d.
	decreases its lending to member banks.


____
72.
When the Fed conducts open-market purchases,

	a.
	it buys Treasury securities, which increases the money supply.

	b.
	it buys Treasury securities, which decreases the money supply.

	c.
	it borrows money from member banks, which increases the money supply.

	d.
	it lends money to member banks, which decreases the money supply.


____
73.
When the Fed conducts open-market sales,

	a.
	it sells Treasury securities, which increases the money supply.

	b.
	it sells Treasury securities, which decreases the money supply.

	c.
	it borrows from member banks, which increases the money supply.

	d.
	it lends money to member banks, which decreases the money supply.


____
74.
When the Fed conducts open-market purchases,

	a.
	it buys Treasury securities, which increases the money supply.

	b.
	it buys Treasury securities, which decreases the money supply.

	c.
	banks buy Treasury securities from Fed, which increases the money supply.

	d.
	banks buy Treasury securities from the Fed, which decreases the money supply.


____
75.
The Fed can increase the money supply by conducting open market

	a.
	sales and raising the discount rate.

	b.
	sales and lowering the discount rate.

	c.
	purchases and raising the discount rate.

	d.
	purchases and lowering the discount rate.


____
76.
The Fed can increase the price level by conducting open market

	a.
	sales and raising the discount rate.

	b.
	sales and lowering the discount rate.

	c.
	purchases and raising the discount rate.

	d.
	purchases and lowering the discount rate.


____
77.
Over one time horizon or another Fed policy decisions influence

	a.
	inflation and employment.

	b.
	inflation but not employment.

	c.
	employment but not inflation.

	d.
	neither inflation nor employment.


____
78.
There is a

	a.
	short-run tradeoff between inflation and unemployment.

	b.
	short-run tradeoff between an increase in the money supply and inflation.

	c.
	long-run tradeoff between inflation and unemployment.

	d.
	long-run tradeoff between an increase in the money supply and inflation.


____
79.
The Fed can influence unemployment in

	a.
	the short and long run.

	b.
	the short run, but not the long run.

	c.
	the long run, but not the short run.

	d.
	neither the short nor long run.


____
80.
In a 100-percent-reserve banking system,

	a.
	banks can create money by issuing currency.

	b.
	banks can create money by lending out reserves.

	c.
	the Fed can increase the money supply with open-market sales.

	d.
	banks hold as many reserves as they hold deposits.


____
81.
In a 100-percent reserve banking system, if people decided to decrease the amount of currency they held by increasing the amount they held in checkable deposits

	a.
	M1 would increase.

	b.
	M1 would decrease.

	c.
	M1 would not change.

	d.
	M1 might rise or fall.


____
82.
On a bank's T-account,

	a.
	both deposits and reserves are assets.

	b.
	both deposits and reserves are liabilities.

	c.
	deposits are assets, reserves are liabilities.

	d.
	reserves are assets, deposits are liabilities.


____
83.
A bank’s

	a.
	reserves and the deposits of its customers are both assets.

	b.
	reserves and the deposits of its customers are both liabilities.

	c.
	reserves are assets and the deposits of its customers are liabilities.

	d.
	reserves are liabilities and the deposits of its customers are assets.


____
84.
A bank’s assets include

	a.
	both its reserves and the deposits of its customers.

	b.
	neither its reserves nor the deposits of its customers.

	c.
	its reserves, but not the deposits of its customers.

	d.
	the deposits of its customers, but not its reserves.


____
85.
A bank’s liabilities include

	a.
	both its reserves and the deposits of its customers.

	b.
	neither its reserves nor the deposits of its customers.

	c.
	its reserves, but not the deposits of its customers.

	d.
	the deposits of its customers, but not its reserves.


____
86.
A bank loans Zippo's Print Shop $350,000 to remodel a building near campus to use as a new store. On their balance sheets this loan is

	a.
	an asset for the bank and a liability for Zippo's. The loan increases the money supply.

	b.
	an asset for the bank and a liability for Zippo's. The loan does not increase the money supply.

	c.
	a liability for the bank and an asset for Zippo's. The loan increases the money supply.

	d.
	a liability for the bank and an asset for Zippo's. The loan does not increase the money supply.


____
87.
Suppose that the reserve ratio is 5 percent and that a bank has $1,000 in deposits. Its reserves are

	a.
	$5.

	b.
	$50.

	c.
	$95.

	d.
	$950.


____
88.
Suppose that the reserve ratio is 10 percent and that a bank has $2,000 in deposits. Its reserves are

	a.
	$20.

	b.
	$200.

	c.
	$1,880.

	d.
	$1,800.


____
89.
Suppose a bank has a 10 percent reserve requirement, $5,000 in deposits, and has loaned out all it can given the reserve requirement.

	a.
	It has $50 in reserves and $4,950 in loans.

	b.
	It has $500 in reserves and $4,500 in loans.

	c.
	It has $555 in reserves and $4,445 in loans.

	d.
	None of the above is correct.


____
90.
Suppose a bank has a 10 percent reserve requirement, $4,000 in deposits, and has loaned out all it can given the reserve requirement.

	a.
	It has $40 in reserves and $3,960 in loans.

	b.
	It has $400 in reserves and $3,600 in loans.

	c.
	It has $444 in reserves and $3,556 in loans.

	d.
	None of the above is correct.


____
91.
Suppose a bank has $10,000 in deposits and $8,000 in loans. It has loaned out all it can. It has a reserve ratio of

	a.
	2 percent.

	b.
	12.5 percent.

	c.
	20 percent.

	d.
	80 percent.


____
92.
Suppose a bank has $200,000 in deposits and $190,000 in loans. It has loaned out all it can. It has a reserve ratio of

	a.
	2.5 percent.

	b.
	5 percent.

	c.
	9.5 percent.

	d.
	10 percent.


____
93.
The manager of the bank where you work tells you that your bank has $5 million in excess reserves. She also tells you that the bank has $300 million in deposits and $255 million dollars in loans. Given this information you find that the reserve requirement must be

	a.
	50/255.

	b.
	40/255.

	c.
	50/300.

	d.
	40/300.


____
94.
Suppose the banking system currently has $300 billion in reserves, that the reserve requirement is 10%, and that $3 billion of the reserves are excess reserves that will not be lent out. What is the value of deposits?

	a.
	$3,300 billion

	b.
	$2,970 billion

	c.
	$2,700 billion

	d.
	$2,673 billion


____
95.
If you deposit $100 of currency into a demand deposit at a bank, this action by itself

	a.
	does not change the money supply.

	b.
	increases the money supply.

	c.
	decreases the money supply.

	d.
	has an indeterminate effect on the money supply.


____
96.
When a bank loans out $1,000, the money supply

	a.
	does not change.

	b.
	decreases.

	c.
	increases.

	d.
	may do any of the above.


____
97.
Under a fractional reserve banking system, banks

	a.
	hold more reserves than deposits.

	b.
	generally lend out a majority of the funds deposited.

	c.
	cause the money supply to fall by lending out reserves.

	d.
	All of the above are correct.


____
98.
Suppose that banks desire to hold no excess reserves the reserve ratio is 5 percent and a bank receives a new deposit of $1,000. This bank

	a.
	will increase its required reserves by $50.

	b.
	will initially see its total reserves increase by $1,000.

	c.
	will be able to make a new loan of $950.

	d.
	All of the above are correct.


____
99.
Suppose banks desire to hold no excess reserves. If the reserve ratio is 10 percent and a bank receives a new deposit of $10. Then this bank

	a.
	must increase required reserves by $1.

	b.
	will initially see its total reserves increase by $1.

	c.
	will be able to make new loans up to a maximum of $1.

	d.
	All of the above are correct.


____
100.
Suppose that banks desire to hold no excess reserves. If the reserve ratio is 5 percent and a bank receives a new deposit of $400, it

	a.
	must increase required reserves by $380.

	b.
	will initially see reserves increase by $380.

	c.
	will be able to use this deposit to make new loans.

	d.
	None of the above is correct.


____
101.
If banks desire to hold no excess reserves, the reserve ratio is 10 percent, and a bank that was previously just meeting its reserve requirement receives a new deposit of $400, then initially the bank has a 

	a.
	$400 increase in excess reserves and no increase in required reserves.

	b.
	$400 increase in required reserves and no increase in excess reserves.

	c.
	$360 increase in excess reserves and $40 increase in required reserves.

	d.
	$40 increase in excess reserves and $360 increase in required reserves.


____
102.
Suppose the Fed requires banks to hold 10% of their deposits as reserves. A bank has $20,000 of excess reserves and then sells the Fed a Treasury bill for $9,000. How much does this bank now have to lend out if it decides to hold only required reserves?

	a.
	$29,000

	b.
	$28,100

	c.
	$19,100

	d.
	$11,000


____
103.
Suppose that banks desire to hold no excess reserves and that the Fed has set a reserve requirement of 10%. If you deposit $3,000 into First Hawkeye Bank, 

	a.
	Hawkeye’s required reserves increase by $300.

	b.
	Hawkeye will be able to lend out $2,700.

	c.
	Hawkeye’s assets and liabilities will both increase by $3,000.

	d.
	All of the above are correct.


Use the balance sheet for the following questions.

Table 29-2
	First Bank of Mason City

	Assets
	
	Liabilities
	

	Required Reserves
	$20.00
	Deposits
	$100.00

	Loans
	$80.00
	
	


____
104.
Refer to Table 29-2. The reserve ratio is

	a.
	0 percent.

	b.
	20 percent.

	c.
	80 percent.

	d.
	100 percent.


____
105.
Refer to Table 29-2. If $1,000 is deposited into the First Bank of Mason City, and the bank takes no other actions, it’s

	a.
	total reserves will increase by $200.

	b.
	liabilities will decrease by $1,000.

	c.
	assets will increase by $1,000.

	d.
	required reserves will increase by $800.


____
106.
Refer to Table 29-2. If someone deposits $400 into the First Bank of Mason City,

	a.
	the bank will be able to make additional loans totaling $320.

	b.
	excess reserves initially increase by $320.

	c.
	required reserves initially increase by $80.

	d.
	All of the above are correct.


Use the balance sheet for the following questions.

Table 29-3
	Last Bank of Cedar Bend

	Assets
	
	Liabilities
	

	Reserves
	$25,000
	Deposits
	$150,000

	Loans
	$125,000
	
	


____
107.
Refer to Table 29-3. If the reserve requirement is 10 percent, then this bank

	a.
	is in a position to make a new loan of $15,000.

	b.
	has less reserves than required.

	c.
	has excess reserves of less than $15,000.

	d.
	None of the above is correct.


____
108.
Refer to Table 29-3. The reserve requirement is 10 percent and then someone deposits an additional $50,000 into the bank, then if the bank takes no other action it will

	a.
	have $65,000 in excess reserves.

	b.
	have $55,000 in excess reserves.

	c.
	need to raise an additional $5,000 of reserves to meet the reserve requirement

	d.
	None of the above is correct.


____
109.
Refer to Table 29-3. If the reserve requirement is 20 percent, this bank

	a.
	has $10,000 of excess reserves.

	b.
	needs $10,000 more reserves to meet its reserve requirements.

	c.
	needs $5,000 more reserves to meet its reserve requirements.

	d.
	just meets its reserve requirement.


____
110.
Refer to Table 29-3. If the Last Bank of Cedar Bend is holding $10,000 in excess reserves, then the reserve requirement is

	a.
	2 percent.

	b.
	5 percent.

	c.
	7 percent.

	d.
	10 percent.


Table 29-4
	Bank of Tampa

	Assets
	
	Liabilities
	

	Reserves
	$100
	Deposits
	$1,000

	Loans
	$900
	
	


____
111.
Refer to Table 29-4. If the Bank of Tampa has loaned out all the money it wants given its deposits, then its reserve ratio is

	a.
	1%

	b.
	5%

	c.
	10%

	d.
	20%


____
112.
Refer to Table 29-4. Assume that the Bank of Tampa is holding the required percent of deposits as reserves. Also, assume all other banks hold only the required percent of deposits as reserves and that people hold only deposits and no currency. What is the money multiplier?

	a.
	5

	b.
	10

	c.
	15

	d.
	20


____
113.
Refer to Table 29-4. If the Fed requires banks to hold 5 percent of deposits as reserves, how much in excess reserves does the Bank of Tampa now hold?

	a.
	$25

	b.
	$50

	c.
	$55

	d.
	$75


____
114.
Refer to Table 29-4. Assume that all other banks hold only the required 5 percent of deposits as reserves and that people hold only deposits and no currency. If the Bank of Tampa decides to hold exactly 5% reserves, by how much would the economy's money supply increase?

	a.
	$500

	b.
	$1,000

	c.
	$1,500

	d.
	$2,000


Table 29-5

	Bank of Springfield

	Assets
	
	Liabilities
	

	Reserves
	$12,000
	Deposits
	$240,000

	Loans
	$228,000
	
	


____
115.
Refer to Table 29-5. If the Bank of Springfield has lent out all the money it can given its deposits, then what is its reserve ratio?

	a.
	1%

	b.
	5%

	c.
	10%

	d.
	20%


____
116.
Refer to Table 29-5. Assume that the Bank of Springfield is holding the required percent of deposits as reserves. Also, assume all other banks hold only the required percent of deposits as reserves. What is the money multiplier?

	a.
	5

	b.
	10

	c.
	15

	d.
	20


____
117.
Refer to Figure 29-5. If the Fed requires a reserve ratio of 4%, how much in excess reserves does the Bank of Springfield now hold?

	a.
	$1,200

	b.
	$2,400

	c.
	$2,880

	d.
	$3,000


____
118.
Refer to Figure 29-5. Assume that all other banks hold only the required 4 percent of deposits as reserves and that people hold only deposits and no currency. If the Bank of Springfield decides to hold reserves of 4 percent, by how much would the economy's money supply increase?

	a.
	$50,200

	b.
	$60,000

	c.
	$65,400

	d.
	$72,000


____
119.
Refer to Figure 29-5. If all banks hold only the required 4 percent of deposits as reserves, then what is the money multiplier?

	a.
	4

	b.
	16

	c.
	20

	d.
	25


Table 29-6
	Balance Sheet of The Peoples' Bank of Madison, WI.

	Assets
	
	Liabilities
	

	Reserves
	$25 million
	Deposits
	$265 million

	Loans
	$240 million
	
	


____
120.
Refer to Table 29-6. If the reserve requirement is 10% than People's bank

	a.
	has excess reserves of over $2 million dollars.

	b.
	has excess reserves of under $2 million dollars.

	c.
	currently needs to increase its reserves by less than $2 million to meet the reserve requirement.

	d.
	currently needs to increase its reserves by more than $2 million to meet the reserve requirement.


____
121.
Refer to Table 29-6. Suppose that all other banks are meeting their reserve requirements and that people hold only deposits and no currency. Assume that Peoples' Bank has a rule to hold no excess reserves and a rule to not relend loan repayments until the 10% reserve requirements is met. When it has met the reserve requirement, reserves have changed so that the money supply should have

	a.
	increased by over $10 million

	b.
	increased by less than $10 million

	c.
	decreased by less than $10 million

	d.
	decreased by more than $10 million


____
122.
If a bank uses $100 of excess reserves to make a new loan when the reserve ratio is 20 percent, this action by itself initially makes the money supply

	a.
	and wealth increase by $100.

	b.
	and wealth decrease by $100.

	c.
	increase by $100 while wealth does not change.

	d.
	decrease by $100 while wealth decreases by $100.


____
123.
As the reserve ratio increases, the money multiplier

	a.
	increases.

	b.
	does not change.

	c.
	decreases.

	d.
	could do any of the above.


____
124.
If the central bank in some country lowered the reserve ratio, the money multiplier

	a.
	would increase.

	b.
	would not change.

	c.
	would decrease.

	d.
	could do any of the above.


____
125.
If the reserve ratio is 2.5 percent, the money multiplier is

	a.
	40.

	b.
	25.

	c.
	2.5.

	d.
	1.25.


____
126.
If the reserve ratio is 4 percent, the money multiplier is

	a.
	25

	b.
	20

	c.
	4

	d.
	2


____
127.
If the reserve ratio is 5 percent, the money multiplier is

	a.
	25

	b.
	20

	c.
	2.5.

	d.
	1.25.


____
128.
If the reserve ratio is 10 percent, the money multiplier is

	a.
	100.

	b.
	10.

	c.
	9/10.

	d.
	1/10.


____
129.
If the reserve ratio is 12.5 percent, the money multiplier is

	a.
	6.25.

	b.
	8.

	c.
	12.5.

	d.
	25.


____
130.
If the reserve ratio is 20 percent, the money multiplier is

	a.
	2.

	b.
	4.

	c.
	5.

	d.
	8.


____
131.
If the reserve ratio increased from 10 percent to 20 percent, the money multiplier would

	a.
	rise from 10 to 20.

	b.
	rise from 5 to 10.

	c.
	fall from 10 to 5.

	d.
	not change.


____
132.
The multiplier equals

	a.
	1/R

	b.
	1/(1+R)

	c.
	1/(1-R)

	d.
	None of the above is correct.


____
133.
The money multiplier is defined as

	a.
	1/(1-R)

	b.
	1/R

	c.
	1/(1+R)

	d.
	(1+R)/R


____
134.
If the reserve ratio is 5 percent, $1,000 of additional reserves can create

	a.
	$5,500 of new money

	b.
	$5,000 of new money

	c.
	$4,000 of new money

	d.
	None of the above is correct.


____
135.
If the reserve ratio is 5 percent, $1,000 of additional reserves can create

	a.
	$25,000 of new money.

	b.
	$20,000 of new money.

	c.
	$19,000 of new money.

	d.
	$15,000 of new money.


____
136.
If the reserve ratio is 5 percent, $1,000 of additional reserves can create

	a.
	$200 of new money.

	b.
	$2,000 of new money.

	c.
	$20,000 of new money.

	d.
	None of the above is correct.


____
137.
If the reserve ratio is 8 percent, an additional $1,000 of reserves can increase the money supply by

	a.
	$6,400

	b.
	$8,000

	c.
	$12,500

	d.
	$20,000


____
138.
If the reserve ratio is 10 percent, $1,000 of additional reserves can create

	a.
	$100 of new money.

	b.
	$1,000 of new money.

	c.
	$10,000 of new money.

	d.
	None of the above is correct.


____
139.
If the reserve ratio is 10 percent, $1,000 of additional reserves can create

	a.
	$11,000 of new money.

	b.
	$10,000 of new money.

	c.
	$9,000 of new money

	d.
	None of the above is correct.


____
140.
If the reserve ratio is 10 percent, $1,000 of additional reserves can create

	a.
	$5,000 of new money.

	b.
	$9,000 of new money.

	c.
	$10,000 of new money.

	d.
	None of the above is correct.


____
141.
If the reserve ratio is 12.5 percent, $1,000 of additional reserves can create

	a.
	$8,000 of new money.

	b.
	$12,500 of new money.

	c.
	$25,000 of new money.

	d.
	None of the above is correct.


____
142.
If the reserve ratio is 12.5 percent, $1,000 of additional reserves can create

	a.
	$7,000 of new money.

	b.
	$8,000 of new money.

	c.
	$11,500 of new money.

	d.
	$12,500 of new money.


____
143.
Suppose that the Federal Reserve increases bank reserves and banks lend out some of these reserves, but at some point banks still have $5 million more they wish to lend out. If the required reserve ratio is 10%, how much more money can banks create if they lend out the remaining amount?

	a.
	$55 million

	b.
	$50 million

	c.
	$45 million

	d.
	$40 million


____
144.
In Wellville, the money supply is $80,000 and reserves are $18,000. Assuming that people hold only deposits and no currency, and that banks hold only required reserves, the required reserve ratio is

	a.
	29 percent.

	b.
	22.5 percent.

	c.
	16 percent.

	d.
	None of the above is correct.


____
145.
In Smallville, the money supply is $8 million and reserves are $1 million. Assuming that people hold only deposits and no currency, and that banks hold only required reserves, the required reserve ratio is

	a.
	14%

	b.
	12.5%

	c.
	8%

	d.
	None of the above is correct.


____
146.
If the reserve ratio is 100 percent, depositing $500 of paper money in a bank 

	a.
	will eventually increase the money supply by $500.

	b.
	leave the size of the money supply unchanged.

	c.
	will eventually decrease the size of the money supply by $500.

	d.
	None of the above is correct.


Meditorian Banking Statistics
The monetary policy of Meditor is determined by the Meditorian Central Bank. The local currency is the medit. Meditorian banks collectively hold 100 million medits of required reserves, 25 million medits of excess reserves, 250 million medits of Meditorian Treasury Bonds, and their customers hold 1,000 million medits of deposits. Meditorians prefer to use only demand deposits and so all currency is on deposit at the bank.
____
147.
Refer to Meditorian Central Banking. Assume that banks desire to continue holding the same ratio of excess reserves to deposits. What is the required reserve ratio and what is the reserve ratio?

	a.
	2%, 8%

	b.
	8%, 10%

	c.
	10%, 12.5%

	d.
	None of the above is correct.


____
148.
Refer to Meditorian Central Banking. Assuming the only other thing Meditorian banks have on their balance sheets is loans, what is the value of existing loans made by Meditorian banks?

	a.
	625 million medits

	b.
	875 million medits

	c.
	1,125 million medits

	d.
	None of the above is correct.


____
149.
Refer to Meditorian Central Banking. Suppose that the Central Bank of Meditor loaned the banks of Meditor 5 million medits. Suppose also that both the required reserve ratio and the percentage of deposits held as excess reserves stay the same. By how much would the money supply of Meditor change? 

	a.
	60 million medits

	b.
	50 million medits

	c.
	40 million medits

	d.
	None of the above is correct.


____
150.
Refer to Meditorian Banking Statistics. Suppose that the Central Bank of Meditor purchases 25 million medits of Meditorian Treasury Bonds from banks. Suppose also that both the required reserve ratio and the percentage of deposits held as excess reserves stay the same. By how much would the money supply of Meditor change? 

	a.
	200 million medits

	b.
	150 million medits

	c.
	100 million medits

	d.
	None of the above is correct.


____
151.
Refer to Meditorian Banking Statistics. Suppose that the Central Bank of Meditor changes the reserve requirement ratio to 2.5%. Suppose also that both the required reserve ratio and the percentage of deposits held as excess reserves stay the same. By how much would the money supply of Meditor change? 

	a.
	625 million medits

	b.
	1,250 million medits

	c.
	2,500 million medits

	d.
	None of the above is correct.


Tazian Banking Statistics

The Monetary Policy of Tazi is controlled by the country’s central bank known as the Bank of Tazi. The local unit of currency is the Taz. Aggregate banking statistics show that collectively the banks of Tazi hold 300 million Tazes of required reserves, 75 million Tazes of excess reserves, have issued 7,500 million Tazes of deposits, and hold 225 million Tazes of Tazian Treasury bonds. Tazians prefer to use only demand deposits and so all currency is on deposit at the bank.
____
152.
Refer to Tazian Banking Statistics. Assume that banks desire to continue holding the same ratio of excess reserves to deposits. What is the required reserve ratio and the reserve ratio for Tazian Banks?

	a.
	5%, 8%

	b.
	4%, 8%

	c.
	4%, 5%

	d.
	None of the above is correct.


____
153.
Refer to Tazian Banking Statistics. Assuming the only other thing Tazian banks have on their balance sheets is loans, what is the value of existing loans made by Tazian banks?

	a.
	6,900 million Tazes

	b.
	7,125 million Tazes

	c.
	7,350 million Tazes

	d.
	None of the above is correct.


____
154.
Refer to Tazian Banking Statistics. Suppose that the Bank of Tazi loaned the banks of Tazi 10 million Tazes. Suppose also that both the required reserve ratio and the percentage of deposits held as excess reserves stay the same. By how much would the money supply change?

	a.
	250 million Tazes

	b.
	200 million Tazes

	c.
	125 million Tazes

	d.
	None of the above is correct.


____
155.
Refer to Tazian Banking Statistics. Suppose that the Bank of Tazi purchased 50 million Tazes of Tazian Treasury Bonds from the banks. Suppose also that both the required reserve ratio and the percentage of deposits held as excess reserves stay the same. By how much does the money supply change?

	a.
	625 million Tazes

	b.
	1,000 million Tazes

	c.
	1,250 million Tazes

	d.
	None of the above is correct.


____
156.
Refer to Tazian Banking Statistics. Suppose that the Bank of Tazi changes the reserve requirement ratio to 3%. Assuming that the banks still want to hold the same percentage of excess reserves what is the value of the money supply after the change in the reserve requirement ratio?

	a.
	9,375 million Tazes

	b.
	10,000 million Tazes

	c.
	12,500 million Tazes

	d.
	None of the above is correct to the nearest million medits.


____
157.
The reserve requirement ratio is 10%. Which of the following pair of changes would both allow a bank to lend out an additional $10,000?

	a.
	the Fed buys a $10,000 bond from the bank or someone deposits $10,000 in the bank

	b.
	the Fed buys a $10,000 bond from the bank or the Fed lends the bank $10,000

	c.
	the Fed sells a $10,000 bond to the bank or someone deposits $10,000 in the bank

	d.
	the Fed sells a $10,000 bond to the bank or the Fed lends the bank $10,000


____
158.
The money supply increases when the Fed 

	a.
	buys bonds. The increase will be larger the smaller the reserve ratio is.

	b.
	buys bonds. The increase will be larger the larger the reserve ratio is.

	c.
	sells bonds. The increase will be larger the smaller the reserve ratio is.

	d.
	sells bonds. The increase will be larger the larger the reserve ratio is.


____
159.
The money supply decreases if the Fed

	a.
	sells Treasury bonds. The larger the reserve requirement, the larger the decrease will be.

	b.
	sells Treasury bonds. The smaller the reserve requirement, the larger the decrease will be.

	c.
	buys Treasury bonds. The larger the reserve requirement, the larger the decrease will be.

	d.
	buys Treasury bonds. The smaller the reserve requirement, the larger the decrease will be.


____
160.
The money supply increases when the Fed 

	a.
	lowers the discount rate. The increase will be larger the smaller the reserve ratio is.

	b.
	lowers the discount rate. The increase will be larger the larger the reserve ratio is.

	c.
	raises the discount rate. The increase will be larger the smaller the reserve ratio is.

	d.
	raises the discount rate. The increase will be larger the larger the reserve ratio is.


____
161.
If the Fed wanted to increase the money supply, it would make open market

	a.
	purchases and lower the discount rate.

	b.
	sales and lower the discount rate.

	c.
	purchases and raise the discount rate.

	d.
	sales and raise the discount rate.


____
162.
To increase the money supply, the Fed could

	a.
	sell government bonds.

	b.
	increase the discount rate.

	c.
	decrease the reserve requirement.

	d.
	None of the above is correct.


____
163.
To increase the money supply, the Fed could

	a.
	sell government bonds.

	b.
	decrease the discount rate.

	c.
	increase the reserve requirement.

	d.
	None of the above is correct.


____
164.
To decrease the money supply, the Fed could

	a.
	sell government bonds.

	b.
	increase the discount rate.

	c.
	increase the reserve requirement.

	d.
	All of the above are correct.


____
165.
Which of the following is not a tool of monetary policy?

	a.
	open market operations

	b.
	reserve requirements

	c.
	changing the discount rate

	d.
	increasing the deficit


____
166.
Which of the following lists two things that both increase the money supply?

	a.
	the Fed buys bonds and lowers the discount rate

	b.
	the Fed buys bonds and raises the discount rate

	c.
	the Fed sells bonds and lowers the discount rate

	d.
	the Fed sells bonds and raises the discount rate


____
167.
Which of the following lists two things that both increase the money supply?

	a.
	lower the discount rate, raise the reserve requirement ratio

	b.
	lower the discount rate, lower the reserve requirement ratio

	c.
	raise the discount rate, raise the reserve requirement ratio

	d.
	raise the discount rate, lower the reserve requirement ratio


____
168.
Which of the following lists two things that both increase the money supply?

	a.
	raise the discount rate, make open market purchases

	b.
	raise the discount rate, make open market sales

	c.
	lower the discount rate, make open market purchases

	d.
	lower the discount rate, make open market sales


____
169.
Which of the following lists two things that both increase the money supply?

	a.
	make open market purchases, raise the reserve requirement ratio

	b.
	make open market purchases, lower the reserve requirement ratio

	c.
	make open market sales, raise the reserve requirement ratio

	d.
	make open market sales, lower the reserve requirement ratio


____
170.
Which of the following lists two things that both decrease the money supply?

	a.
	lower the discount rate, raise the reserve requirement ratio

	b.
	lower the discount rate, lower the reserve requirement ratio

	c.
	raise the discount rate, raise the reserve requirement ratio

	d.
	raise the discount rate, lower the reserve requirement ratio


____
171.
Which of the following lists two things that both decrease the money supply?

	a.
	raise the discount rate, make open market purchases

	b.
	raise the discount rate, make open market sales

	c.
	lower the discount rate, make open market purchases

	d.
	lower the discount rate, make open market sales


____
172.
Which of the following lists two things that both decrease the money supply?

	a.
	make open market purchases, raise the reserve requirement ratio

	b.
	make open market purchases, lower the reserve requirement ratio

	c.
	make open market sales, raise the reserve requirement ratio

	d.
	make open market sales, lower the reserve requirement ratio


____
173.
Which of the following actions would have the combined effect of raising the money supply and raising the money multiplier?

	a.
	The Fed sells bonds and raises the reserve requirement ratio.

	b.
	The Fed sells bonds and lowers the reserve requirement ratio.

	c.
	The Fed buys bonds and raises the reserve requirement ratio.

	d.
	The Fed buys bonds and lowers the reserve requirement ratio.


____
174.
The Fed increases the reserve requirement and makes open market purchases. Which of these by itself will increase the money supply?

	a.
	Neither the increase in the reserve requirement nor the open market purchases.

	b.
	Both the increase in the reserve requirement and the open market purchases.

	c.
	Only the increase in the reserve requirement.

	d.
	Only the open market purchases.


____
175.
When the Fed conducts open market purchases, bank reserves

	a.
	increase and banks can increase lending.

	b.
	increase and banks must decrease lending.

	c.
	decrease and banks can increase lending.

	d.
	decrease and banks must decrease lending.


____
176.
If the Fed sells government bonds to the public, bank reserves tend to

	a.
	increase and the money supply increases.

	b.
	increase and the money supply decreases.

	c.
	decrease and the money supply increases.

	d.
	decrease and the money supply decreases.


____
177.
If the Fed makes open market purchases of bonds,

	a.
	the money supply increases by more than the amount of bonds purchased.

	b.
	the money supply increases by less than the amount of bonds purchased.

	c.
	the money supply decreases by more than the amount of bonds purchased.

	d.
	the money supply decreases by less than the amount of bonds purchased.


____
178.
Reserve requirements are regulations concerning

	a.
	the amount banks are allowed to borrow from the Fed.

	b.
	the amount of reserves banks must hold against deposits.

	c.
	reserves banks must hold based on the number and type of loans they make.

	d.
	the interest rate at which banks can borrow from the Fed.


____
179.
In a fractional reserve banking system, an increase in reserve requirements

	a.
	increases both the money multiplier and the money supply.

	b.
	decreases both the money multiplier and the money supply.

	c.
	increases the money multiplier, but decreases the money supply.

	d.
	decreases the money multiplier, but increases the money supply.


____
180.
In a fractional reserve banking system, a decrease in reserve requirements

	a.
	increases both the money multiplier and the money supply.

	b.
	decreases both the money multiplier and the money supply.

	c.
	increases the money multiplier, but decreases the money supply.

	d.
	decreases the money multiplier, but increases the money supply.


____
181.
In 1991 the Federal Reserve lowered the reserve requirement ratio from 12 percent to 10 percent. Other things the same this should have

	a.
	increased both the money multiplier and the money supply.

	b.
	decreased both the money multiplier and the money supply.

	c.
	increased the money multiplier and decreased the money supply.

	d.
	decreased the money multiplier and increased the money supply.


____
182.
Other things the same, if reserve requirements are increased, the reserve ratio

	a.
	increases, the money multiplier increases, and the money supply increases.

	b.
	increases, the money multiplier decreases, and the money supply decreases.

	c.
	decreases, the money multiplier increases, and the money supply increases.

	d.
	decreases, the money multiplier decreases, and the money supply increases.


____
183.
Other things the same if reserve requirements are decreased, the reserve ratio

	a.
	decreases, the money multiplier increases, and the money supply decreases.

	b.
	increases, the money multiplier increases, and the money supply increases.

	c.
	decreases, the money multiplier increases, and the money supply increases.

	d.
	increases, the money multiplier increases, and the money supply decreases.


____
184.
In a fractional reserve banking system with no excess reserves and no currency holdings, if the central bank buys $100 million of bonds,

	a.
	reserves and the money supply increase by less than $100 million.

	b.
	reserves increase by $100 million and the money supply increases by $100 million.

	c.
	reserves increase by $100 million and the money supply increases by more than $100 million.

	d.
	both reserves and the money supply increase by more than $100 million.


____
185.
If the reserve ratio is 10 percent, banks do not hold excess reserves, and people do not hold currency, then when the Fed purchases $20 million of government bonds, bank reserves

	a.
	increase by $20 million and the money supply eventually increases by $200 million.

	b.
	decrease by $20 million and the money supply eventually increases by $200 million.

	c.
	increase by $20 million and the money supply eventually decreases by $200 million.

	d.
	decrease by $20 million and the money supply eventually decreases by $200 million.


____
186.
If the reserve ratio is 20 percent, and banks do not hold excess reserves, and people hold only deposits and not currency, then when the Fed sells $40 million of bonds to the public, bank reserves

	a.
	increase by $40 million and the money supply eventually increases by $200 million.

	b.
	increase by $40 million and the money supply eventually increases by $800 million.

	c.
	decrease by $40 million and the money supply eventually decreases by $200 million.

	d.
	decrease by $40 million and the money supply eventually decreases by $800 million.


____
187.
If the reserve ratio is 10 percent, banks do not hold excess reserves and people hold only deposits and not currency, when the Fed sells $10 million dollars of bonds to the public, bank reserves

	a.
	increase by $1 million and the money supply eventually increases by $10 million.

	b.
	increase by $10 million and the money supply eventually increases by $100 million.

	c.
	decrease by $1 million and the money supply eventually increases by $10 million.

	d.
	decrease by $10 million and the money supply eventually decreases by $100 million.


____
188.
The interest rate the Fed charges on loans it makes to banks is called

	a.
	the prime rate.

	b.
	the federal funds rate.

	c.
	the discount rate.

	d.
	the LIBOR.


____
189.
The discount rate is

	a.
	the interest rate the Fed charges banks.

	b.
	one divided by the difference between one and the reserve ratio.

	c.
	the interest rate banks receive on reserve deposits with the Fed.

	d.
	the interest rate that banks charge on overnight loans to other banks.


____
190.
The discount rate is 

	a.
	the rate at which public banks lend to other public banks.

	b.
	the rate at which the Fed lends to banks.

	c.
	the percentage difference between the face value of a Treasury bond and what the Fed pays for it.

	d.
	the percentage of deposits banks hold as excess reserves.


____
191.
The interest rate that the Fed charges banks that borrow reserves from it is the

	a.
	federal funds rate.

	b.
	discount rate.

	c.
	reserve requirement.

	d.
	prime rate.


____
192.
If the discount rate is lowered, banks choose to borrow

	a.
	less from the Fed so reserves increase.

	b.
	less from the Fed so reserves decrease.

	c.
	more from the Fed so reserves increase.

	d.
	more from the Fed so reserves decrease.


____
193.
Other things the same, if the Fed raises the discount rate, then banks choose to borrow 

	a.
	more from the Fed so reserves increase.

	b.
	more from the Fed so reserves decrease.

	c.
	less from the Fed so reserves increase.

	d.
	less from the Fed so reserves decrease.


____
194.
When the Fed decreases the discount rate, banks will 

	a.
	borrow more from the Fed and lend more to the public. The money supply increases.

	b.
	borrow more from the Fed and lend less to the public. The money supply decreases.

	c.
	borrow less from the Fed and lend more to the public. The money supply increases.

	d.
	borrow less from the Fed and lend less to the public. The money supply decreases.


____
195.
During the stock market crash of October 1987, the Fed

	a.
	nearly created a financial panic by not acting as a lender of last resort.

	b.
	nearly created a financial panic by raising the discount rate.

	c.
	prevented a financial panic by raising reserve requirements.

	d.
	prevented a financial panic by providing liquidity to the financial system.


____
196.
The banking system currently has $10 billion of reserves, none of which are excess. People hold only deposits and no currency, and the reserve requirement is 10%. If the Fed raises the reserve requirement ratio to 20% and at the same time buys $1 billion dollars of bonds, then by how much does the money supply change?

	a.
	It falls by $45 billion.

	b.
	It falls by $52 billion.

	c.
	It falls by $55 billion.

	d.
	None of the above is correct.


____
197.
The banking system currently has $100 billion of reserves, none of which are excess. People hold only deposits and no currency, and the reserve requirement is 10%. If the Fed lowers the reserve requirement ratio to 5% and at the same time buys $10 billion dollars of bonds, then by how much does the money supply change?

	a.
	It rises by $800 billion.

	b.
	It rises by $990 billion.

	c.
	It rises by $1220 billion

	d.
	None of the above is correct.


____
198.
The banking system currently has $50 billion of reserves, none of which are excess. People hold only deposits and no currency, and the reserve requirement is 10%. If the Fed raises the reserve requirement to 12.5% and at the same time sells $10 billion dollars of bonds, then by how much does the money supply change?

	a.
	It falls by $20 billion.

	b.
	It falls by $110 billion.

	c.
	It falls by $180 billion.

	d.
	None of the above is correct.


____
199.
The banking system currently has $200 billion of reserves, none of which are excess. People hold only deposits and no currency, and the reserve requirement is 4%. If the Fed raises the reserve requirement to 5% and at the same time buys $50 billion dollars of bonds, then by how much does the money supply change?

	a.
	It rises by $1000 billion.

	b.
	It rises by $1250 billion.

	c.
	It falls by $950 billion.

	d.
	None of the above is correct.


____
200.
If the public decides to hold more currency and fewer deposits in banks, bank reserves

	a.
	decrease and the money supply eventually decreases.

	b.
	decrease but the money supply does not change.

	c.
	increase and the money supply eventually increases.

	d.
	increase but the money supply does not change.


____
201.
If the public decides to hold less currency and more deposits in banks, bank reserves

	a.
	decrease and the money supply eventually decreases.

	b.
	decrease but the money supply does not change.

	c.
	increase and the money supply eventually increases.

	d.
	increase but the money supply does not change.


____
202.
Suppose that in a country people gain more confidence in the banking system and so hold relatively less currency and more deposits, then bank reserves will

	a.
	decrease and the money supply will eventually decrease.

	b.
	decrease and the money supply will eventually increase.

	c.
	increase and the money supply will eventually decrease.

	d.
	increase and the money supply will eventually increase.


____
203.
Suppose that in a country people had no access to banks but used currency. The creation of a fractional reserve banking system with a reserve ratio of less than 100% would cause the money supply to 

	a.
	increase. The central bank could reduce the size of this increase by buying bonds.

	b.
	increase. The central bank could reduce the size of this increase by selling bonds.

	c.
	decrease. The central bank could reduce the size of this decrease by buying bonds.

	d.
	decrease. The central bank could reduce the size of this decrease by selling bonds.


____
204.
During recessions, banks typically choose to hold more excess reserves relative to their deposits. This action

	a.
	increases the money multiplier and increases the money supply.

	b.
	decreases the money multiplier and decreases the money supply.

	c.
	does not change the money multiplier, but increases the money supply.

	d.
	does not change the money multiplier, but decreases the money supply.


____
205.
Suppose that banks decide to hold more excess reserves relative to deposits. Other things the same, this action will cause the 

	a.
	money supply to fall. To reduce the impact of this the Fed could sell Treasury bonds.

	b.
	money supply to fall. To reduce the impact of this the Fed could buy Treasury bonds.

	c.
	money supply to rise. To reduce the impact of this the Fed could sell Treasury bonds.

	d.
	money supply to rise. To reduce the impact of this the Fed could buy Treasury bonds.


____
206.
Suppose that banks decide to hold fewer excess reserves relative to deposits. Other things the same, this action will cause the 

	a.
	money supply to fall. To reduce the impact of this the Fed could sell Treasury bonds.

	b.
	money supply to fall. To reduce the impact of this the Fed could buy Treasury bonds.

	c.
	money supply to rise. To reduce the impact of this the Fed could sell Treasury bonds.

	d.
	money supply to rise. To reduce the impact of this the Fed could buy Treasury bonds.


____
207.
Suppose that banks decide to hold more excess reserves relative to deposits. Other things the same, this action will cause the 

	a.
	money supply to fall. To reduce the impact of this the Fed could lower the discount rate.

	b.
	money supply to fall. To reduce the impact of this the Fed could raise the discount rate.

	c.
	money supply to rise. To reduce the impact of this the Fed could lower the discount rate.

	d.
	money supply to rise. To reduce the impact of this the Fed could raise the discount rate.


____
208.
If people decide to hold more currency relative to deposits, the money supply

	a.
	falls. The larger the reserve ratio is, the more it falls.

	b.
	falls. The larger the reserve ratio is, the less it falls.

	c.
	rises. The larger the reserve ratio is, the more it rises.

	d.
	rises. The larger the reserve ratio is, the less it rises.


____
209.
If people decide to hold more currency relative to deposits, the money supply

	a.
	falls. The Fed could lessen the impact of this by buying Treasury bonds.

	b.
	falls. The Fed could lessen the impact of this by selling Treasury bonds.

	c.
	rises. The Fed could lessen the impact of this by buying Treasury bonds.

	d.
	rises. The Fed could lessen the impact of the by selling Treasury bonds.


____
210.
If people decide to hold less currency relative to deposits, the money supply

	a.
	falls. The Fed could lessen the impact of this by buying Treasury bonds.

	b.
	falls. The Fed could lessen the impact of this by selling Treasury bonds.

	c.
	rises. The Fed could lessen the impact of this by buying Treasury bonds.

	d.
	rises. The Fed could lessen the impact of this by selling Treasury bonds.


____
211.
Which of the following is correct?

	a.
	The Fed can control the money supply precisely.

	b.
	The amount of money in the economy does not depend on the behavior of depositors.

	c.
	The amount of money in the economy depends in part on the behavior of banks.

	d.
	None of the above is correct.


____
212.
During wars the public tends to hold relatively more currency and relatively fewer deposits. This decision makes reserves

	a.
	and the money supply increase.

	b.
	and the money supply decrease.

	c.
	increase, but leaves the money supply unchanged.

	d.
	decrease, but leaves the money supply unchanged.


____
213.
In December 1999 people feared that there might be computer problems at banks as the century changed. Consequently, people wanted to hold relatively more in currency and relatively less in deposits. In anticipation banks raised their reserve ratios to have enough cash on hand to meet depositors' demands. These actions by the public

	a.
	would increase the multiplier. If the Fed wanted to offset the effect of this on the size of the money supply, it could have sold bonds.

	b.
	would increase the multiplier. If the Fed wanted to offset the effect of this on the size of the money supply, it could have bought bonds.

	c.
	would reduce the multiplier. If the Fed wanted to offset the effect of this on the size of the money supply, it could have sold bonds.

	d.
	would reduce the multiplier. If the Fed wanted to offset the effect of this on the size of the money supply, it could have bought bonds.


____
214.
In the nineteenth century when there were often bank runs caused by crop failures, banks would make relatively fewer loans and hold relatively more excess reserves. By itself, these actions by the banks should have

	a.
	increased the money multiplier and the money supply.

	b.
	decreased the money multiplier and increased the money supply.

	c.
	increased the money multiplier and decreased the money supply.

	d.
	decreased both the money multiplier and the money supply.


____
215.
During a bank run depositors decide to hold more currency relative to deposits and banks decide to hold more excess reserves relative to deposits. 

	a.
	Both the decision to hold relatively more currency and the decision to hold relatively more excess reserves would make the money supply increase.

	b.
	Both the decision to hold relatively more currency and the decision to hold relatively more excess reserves would make the money supply decrease.

	c.
	The decision to hold relatively more currency would make the money supply increase. The decision to hold relatively more excess reserves would make the money supply decrease.

	d.
	The decision to hold relatively more currency would make the money supply increase. The decision to hold relatively more excess reserves would make the money supply decrease.


____
216.
The money supply would fall if

	a.
	households decide to hold relatively more currency and relatively fewer deposits and banks decide to hold relatively more excess reserves and make fewer loans.

	b.
	households decide to hold relatively more currency and relatively fewer deposits and banks decide to hold relatively fewer excess reserves and make more loans.

	c.
	households decide to hold relatively less currency and relatively more deposits and banks decide to hold relatively more excess reserves and make fewer loans.

	d.
	households decide to hold relatively less currency and relatively more deposits and banks decide to hold relatively less excess reserves and make more loans.


____
217.
Bank runs

	a.
	will affect neither the money supply nor the money multiplier.

	b.
	are only a problem for insolvent banks.

	c.
	can be neither prevented nor stopped by the Federal Reserve.

	d.
	are a problem because banks only hold a fraction of deposits as reserves.


____
218.
The Fed can directly protect a bank during a bank run by

	a.
	increasing reserve requirements.

	b.
	selling government bonds to the bank.

	c.
	lending reserves to the bank.

	d.
	Doing any of the above.


____
219.
During the Great Depression in the early 1930s,

	a.
	bank runs closed many banks.

	b.
	the money supply rose sharply.

	c.
	the Fed decreased reserve requirements.

	d.
	both a and b are correct.


____
220.
Today, bank runs are

	a.
	uncommon because of the high required reserve ratio.

	b.
	uncommon because of FDIC deposit insurance.

	c.
	common because of the low required reserve ratio.

	d.
	common because the FDIC is nearly bankrupt.


____
221.
The Federal Deposit Insurance Corporation

	a.
	protects depositors in the event of bank failures.

	b.
	has become insolvent in recent years due to a large number of bank failures.

	c.
	is part of the Federal Reserve System.

	d.
	in practice has seldom been of much use.


____
222.
The Federal Funds rate is the 

	a.
	percentage of face value that the Federal Reserve is willing to pay for Treasury Securities.

	b.
	percentage of deposits that banks must hold as reserves.

	c.
	interest rate at which the Federal Reserve makes short-term loans to banks.

	d.
	interest rate at which banks lend reserves to each other overnight.


____
223.
The Federal Funds rate is the interest rate

	a.
	the Federal Reserves charges for loans it makes to the federal government.

	b.
	the Federal Reserve charges banks for short-term loans.

	c.
	banks charge each other for short-term loans of reserves.

	d.
	on newly issued one-year Treasury bonds.


____
224.
In recent years the Federal Open Market Committee has focused on a target for

	a.
	M1 growth.

	b.
	the federal funds rate.

	c.
	the number of Treasury Securities issued by the federal government.

	d.
	total reserves of banks.


____
225.
Imagine that the Federal Funds rate was below the level the Federal Reserve had targeted. To move the rate back towards it’s target the Federal Reserve could 

	a.
	buy bonds. This buying would reduce reserves.

	b.
	buy bonds. This buying would increase reserves.

	c.
	sell bonds. This selling would reduce reserves.

	d.
	sell bonds. This selling would increase reserves.


____
226.
Imagine that the Federal Funds rate was above the level the Federal Reserve had targeted. To move the rate back towards it’s target the Federal Reserve could 

	a.
	buy bonds. This buying would reduce reserves.

	b.
	buy bonds. This buying would increase reserves.

	c.
	sell bonds. This selling would reduce reserves.

	d.
	sell bonds. This selling would increase reserves.


____
227.
Imagine that the Federal Funds rate was below the level the Federal Reserve had targeted. To move the rate back towards it’s target the Federal Reserve could 

	a.
	buy bonds. This buying would increase the money supply.

	b.
	buy bonds. This buying would reduce the money supply.

	c.
	sell bonds. This selling would increase the money supply.

	d.
	sell bonds. This selling would reduce the money supply. 


____
228.
Imagine that the Federal Funds rate was above the level the Federal Reserve had targeted. To move the rate back towards it’s target the Federal Reserve could 

	a.
	buy bonds. This buying would increase the money supply.

	b.
	buy bonds. This buying would reduce the money supply.

	c.
	sell bonds. This selling would increase the money supply..

	d.
	sell bonds. This selling would reduce the money supply..


____
229.
An increase in the money supply might indicate that the Fed had

	a.
	purchased bonds in an attempt to increase the federal funds rate.

	b.
	purchased bonds in an attempt to reduce the federal funds rate.

	c.
	sold bonds in an attempt to increase the federal funds rate.

	d.
	sold bonds in an attempt to reduce the federal funds rate.


____
230.
A decrease in the money supply might indicate that the Fed had

	a.
	purchased bonds in an attempt to increase the federal funds rate.

	b.
	purchased bonds in an attempt to reduce the federal funds rate.

	c.
	sold bonds in an attempt to increase the federal funds rate.

	d.
	sold bonds in an attempt to reduce the federal funds rate.
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10.
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11.
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35.
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36.
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C
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MSC:
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37.
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A
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MSC:
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38.
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C
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1
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M1 | M2
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39.
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D
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1
DIF:
1
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29-1
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M1 | M2
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40.
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B
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1
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1
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M1 | M2
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41.
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B
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1
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1
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TOP:
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42.
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A
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43.
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D
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44.
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D
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1
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45.
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C
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46.
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B
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2
REF:
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47.
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B
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1
DIF:
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48.
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C
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49.
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D
PTS:
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MSC:
Definitional

50.
ANS:
A
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1
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MSC:
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51.
ANS:
B
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1
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1
REF:
29-1
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Currency holdings
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52.
ANS:
C
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29-1
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MSC:
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D
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MSC:
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54.
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C
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1
DIF:
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55.
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C
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56.
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A
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1
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TOP:
Federal Reserve
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57.
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D
PTS:
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DIF:
2
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TOP:
Federal Reserve

MSC:
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58.
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B
PTS:
1
DIF:
1
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TOP:
Federal Reserve

MSC:
Definitional

59.
ANS:
B
PTS:
1
DIF:
1
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TOP:
Federal Reserve
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D
PTS:
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DIF:
1
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TOP:
Federal Reserve
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B
PTS:
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1
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Federal Reserve
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D
PTS:
1
DIF:
1
REF:
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A
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1
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Federal Reserve
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64.
ANS:
B
PTS:
1
DIF:
1
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Federal Reserve

MSC:
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B
PTS:
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1
REF:
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Federal Reserve
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C
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A
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Federal Open Market Committee
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29-2

TOP:
Federal Open Market Committee
MSC:
Definitional

69.
ANS:
B
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C
PTS:
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B
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B
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1
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1
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ANS:
A
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1
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1
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75.
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D
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1
DIF:
2
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76.
ANS:
D
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1
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Open-market operations
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77.
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A
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1
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2
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Inflation | Unemployment
MSC:
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78.
ANS:
A
PTS:
1
DIF:
1
REF:
29-2

TOP:
Inflation | Unemployment
MSC:
Definitional

79.
ANS:
B
PTS:
1
DIF:
2
REF:
29-2

TOP:
Federal Reserve

MSC:
Definitional

80.
ANS:
D
PTS:
1
DIF:
1
REF:
29-3

TOP:
Reserves
MSC:
Definitional

81.
ANS:
C
PTS:
1
DIF:
2
REF:
29-3

TOP:
Reserves
MSC:
Applicative

82.
ANS:
D
PTS:
1
DIF:
1
REF:
29-3

TOP:
Bank balance sheet

MSC:
Definitional

83.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Bank balance sheet

MSC:
Definitional

84.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Bank balance sheet

MSC:
Definitional

85.
ANS:
D
PTS:
1
DIF:
1
REF:
29-3

TOP:
Bank balance sheet

MSC:
Definitional

86.
ANS:
A
PTS:
1
DIF:
2
REF:
29-3

TOP:
Bank balance sheet

MSC:
Interpretive

87.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Reserves
MSC:
Applicative

88.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Reserves
MSC:
Applicative

89.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Reserves
MSC:
Applicative

90.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Reserves
MSC:
Applicative

91.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Reserves
MSC:
Applicative

92.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Reserves
MSC:
Applicative

93.
ANS:
D
PTS:
1
DIF:
3
REF:
29-3

TOP:
Reserves
MSC:
Applicative

94.
ANS:
B
PTS:
1
DIF:
3
REF:
29-3

TOP:
Reserves
MSC:
Applicative

95.
ANS:
A
PTS:
1
DIF:
2
REF:
29-3

TOP:
Money creation

MSC:
Applicative

96.
ANS:
C
PTS:
1
DIF:
2
REF:
29-3

TOP:
Money creation

MSC:
Definitional

97.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money creation

MSC:
Definitional

98.
ANS:
D
PTS:
1
DIF:
2
REF:
29-2

TOP:
Money creation

MSC:
Applicative

99.
ANS:
A
PTS:
1
DIF:
2
REF:
29-2

TOP:
Reserves
MSC:
Applicative

100.
ANS:
C
PTS:
1
DIF:
2
REF:
29-2

TOP:
Reserves
MSC:
Applicative

101.
ANS:
C
PTS:
1
DIF:
2
REF:
29-2

TOP:
Reserves
MSC:
Applicative

102.
ANS:
A
PTS:
1
DIF:
3
REF:
29-2

TOP:
Reserves
MSC:
Applicative

103.
ANS:
D
PTS:
1
DIF:
2
REF:
29-2

TOP:
Reserves
MSC:
Applicative

104.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Reserve ratio


MSC:
Applicative

105.
ANS:
C
PTS:
1
DIF:
2
REF:
29-3

TOP:
Reserves
MSC:
Applicative

106.
ANS:
D
PTS:
1
DIF:
2
REF:
29-3

TOP:
Reserves
MSC:
Applicative

107.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Reserves
MSC:
Applicative

108.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Reserves
MSC:
Applicative

109.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Reserves
MSC:
Applicative

110.
ANS:
D
PTS:
1
DIF:
2
REF:
29-3

TOP:
Reserves
MSC:
Applicative

111.
ANS:
C
PTS:
1
DIF:
2
REF:
29-2

TOP:
Reserve ratio


MSC:
Applicative

112.
ANS:
B
PTS:
1
DIF:
2
REF:
29-2

TOP:
Money multiplier

MSC:
Applicative

113.
ANS:
B
PTS:
1
DIF:
2
REF:
29-2

TOP:
Reserve requirement

MSC:
Applicative

114.
ANS:
B
PTS:
1
DIF:
2
REF:
29-2

TOP:
Money multiplier

MSC:
Analytical

115.
ANS:
B
PTS:
1
DIF:
1
REF:
29-2

TOP:
Reserve ratio


MSC:
Applicative

116.
ANS:
D
PTS:
1
DIF:
2
REF:
29-2

TOP:
Money multiplier

MSC:
Analytical

117.
ANS:
B
PTS:
1
DIF:
2
REF:
29-2

TOP:
Excess reserves

MSC:
Applicative

118.
ANS:
B
PTS:
1
DIF:
2
REF:
29-2

TOP:
Money multiplier

MSC:
Analytical

119.
ANS:
D
PTS:
1
DIF:
1
REF:
29-2

TOP:
Money multiplier

MSC:
Applicative

120.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Reserve requirement

MSC:
Applicative

121.
ANS:
D
PTS:
1
DIF:
3
REF:
29-3

TOP:
Reserve requirement | Money multiplier

MSC:
Analytical

122.
ANS:
C
PTS:
1
DIF:
2
REF:
29-3

TOP:
Money multiplier

MSC:
Definitional

123.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

124.
ANS:
A
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

125.
ANS:
A
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

126.
ANS:
A
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

127.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

128.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

129.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

130.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

131.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

132.
ANS:
A
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

133.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Definitional

134.
ANS:
D
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

135.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

136.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

137.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

138.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

139.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

140.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

141.
ANS:
A
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

142.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

143.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

144.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Money multiplier

MSC:
Analytical

145.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Money multiplier

MSC:
Analytical

146.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Money multiplier

MSC:
Applicative

147.
ANS:
C
PTS:
1
DIF:
2
REF:
29-3

TOP:
Reserve ratio


MSC:
Applicative

148.
ANS:
A
PTS:
1
DIF:
3
REF:
29-3

TOP:
Reserve ratio


MSC:
Applicative

149.
ANS:
C
PTS:
1
DIF:
3
REF:
29-3

TOP:
Reserve ratio


MSC:
Applicative

150.
ANS:
A
PTS:
1
DIF:
3
REF:
29-3

TOP:
Reserve ratio


MSC:
Applicative

151.
ANS:
C
PTS:
1
DIF:
3
REF:
29-3

TOP:
Reserve ratio


MSC:
Applicative

152.
ANS:
C
PTS:
1
DIF:
2
REF:
29-3

TOP:
Reserve ratio


MSC:
Applicative

153.
ANS:
A
PTS:
1
DIF:
2
REF:
29-3

TOP:
Reserve ratio


MSC:
Applicative

154.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Reserve ratio


MSC:
Applicative

155.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Reserve ratio


MSC:
Applicative

156.
ANS:
A
PTS:
1
DIF:
3
REF:
29-3

TOP:
Reserve ratio


MSC:
Applicative

157.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Reserves
MSC:
Applicative

158.
ANS:
A
PTS:
1
DIF:
2
REF:
29-3

TOP:
Monetary tools

MSC:
Applicative

159.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Reserve requirement | Money multiplier

MSC:
Applicative

160.
ANS:
A
PTS:
1
DIF:
2
REF:
29-3

TOP:
Monetary tools

MSC:
Applicative

161.
ANS:
A
PTS:
1
DIF:
2
REF:
29-3

TOP:
Monetary tools

MSC:
Definitional

162.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Monetary tools

MSC:
Definitional

163.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Monetary tools

MSC:
Definitional

164.
ANS:
D
PTS:
1
DIF:
1
REF:
29-3

TOP:
Monetary tools

MSC:
Definitional

165.
ANS:
D
PTS:
1
DIF:
1
REF:
29-3

TOP:
Monetary tools

MSC:
Definitional

166.
ANS:
A
PTS:
1
DIF:
2
REF:
29-3

TOP:
Reserves
MSC:
Applicative

167.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Monetary tools

MSC:
Definitional

168.
ANS:
C
PTS:
1
DIF:
2
REF:
29-3

TOP:
Monetary tools

MSC:
Definitional

169.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Monetary tools

MSC:
Definitional

170.
ANS:
C
PTS:
1
DIF:
2
REF:
29-3

TOP:
Monetary tools

MSC:
Definitional

171.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Monetary tools

MSC:
Definitional

172.
ANS:
C
PTS:
1
DIF:
2
REF:
29-3

TOP:
Monetary tools

MSC:
Definitional

173.
ANS:
D
PTS:
1
DIF:
2
REF:
29-3

TOP:
Monetary tools

MSC:
Analytical

174.
ANS:
D
PTS:
1
DIF:
2
REF:
29-3

TOP:
Reserve requirement | Open-market operations
MSC:
Applicative

175.
ANS:
A
PTS:
1
DIF:
2
REF:
29-3

TOP:
Monetary tools

MSC:
Interpretive

176.
ANS:
D
PTS:
1
DIF:
2
REF:
29-3

TOP:
Open-market operations
MSC:
Analytical

177.
ANS:
A
PTS:
1
DIF:
2
REF:
29-3

TOP:
Open-market operations
MSC:
Analytical

178.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Reserve requirement

MSC:
Definitional

179.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Reserve requirement

MSC:
Interpretive

180.
ANS:
A
PTS:
1
DIF:
2
REF:
29-3

TOP:
Reserve requirement

MSC:
Interpretive

181.
ANS:
A
PTS:
1
DIF:
2
REF:
29-2

TOP:
Reserve requirement

MSC:
Interpretive

182.
ANS:
B
PTS:
1
DIF:
3
REF:
29-3

TOP:
Reserve requirement

MSC:
Interpretive

183.
ANS:
C
PTS:
1
DIF:
3
REF:
29-3

TOP:
Reserve requirement

MSC:
Interpretive

184.
ANS:
C
PTS:
1
DIF:
2
REF:
29-3

TOP:
Open-market operations | Money multiplier

MSC:
Applicative

185.
ANS:
A
PTS:
1
DIF:
3
REF:
29-3

TOP:
Open-market operations | Money multiplier

MSC:
Applicative

186.
ANS:
C
PTS:
1
DIF:
3
REF:
29-3

TOP:
Open-market operations | Money multiplier

MSC:
Applicative

187.
ANS:
D
PTS:
1
DIF:
3
REF:
29-3

TOP:
Open-market operations | Money multiplier

MSC:
Applicative

188.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Federal funds rate

MSC:
Definitional

189.
ANS:
A
PTS:
1
DIF:
1
REF:
29-3

TOP:
Discount rate


MSC:
Definitional

190.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Discount rate


MSC:
Definitional

191.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Discount rate


MSC:
Definitional

192.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Discount rate


MSC:
Definitional

193.
ANS:
D
PTS:
1
DIF:
1
REF:
29-3

TOP:
Discount rate


MSC:
Definitional

194.
ANS:
A
PTS:
1
DIF:
2
REF:
29-3

TOP:
Discount rate


MSC:
Interpretive

195.
ANS:
D
PTS:
1
DIF:
1
REF:
29-3

TOP:
Stock market crash of 1987
MSC:
Definitional

196.
ANS:
A
PTS:
1
DIF:
3
REF:
29-3

TOP:
Money multiplier | Open-market operations

MSC:
Analytical

197.
ANS:
C
PTS:
1
DIF:
3
REF:
29-3

TOP:
Money multiplier | Open-market operations

MSC:
Analytical

198.
ANS:
C
PTS:
1
DIF:
3
REF:
29-3

TOP:
Money multiplier | Open-market operations

MSC:
Analytical

199.
ANS:
D
PTS:
1
DIF:
3
REF:
29-3

TOP:
Money multiplier | Open-market operations

MSC:
Analytical

200.
ANS:
A
PTS:
1
DIF:
2
REF:
29-3

TOP:
Money multiplier and currency holdings

MSC:
Applicative

201.
ANS:
C
PTS:
1
DIF:
2
REF:
29-3

TOP:
Money multiplier and currency holdings

MSC:
Applicative

202.
ANS:
D
PTS:
1
DIF:
2
REF:
29-3

TOP:
Money multiplier and currency holdings

MSC:
Applicative

203.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Money multiplier and currency holdings

MSC:
Applicative

204.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Money multiplier and excess reserves

MSC:
Applicative

205.
ANS:
B
PTS:
1
DIF:
3
REF:
29-3

TOP:
Money multiplier and excess reserves

MSC:
Applicative

206.
ANS:
C
PTS:
1
DIF:
3
REF:
29-3

TOP:
Money multiplier and excess reserves

MSC:
Applicative

207.
ANS:
A
PTS:
1
DIF:
3
REF:
29-3

TOP:
Money multiplier and excess reserves

MSC:
Applicative

208.
ANS:
B
PTS:
1
DIF:
3
REF:
29-3

TOP:
Money multiplier and currency holdings

MSC:
Applicative

209.
ANS:
A
PTS:
1
DIF:
3
REF:
29-3

TOP:
Money multiplier and currency holdings

MSC:
Applicative

210.
ANS:
D
PTS:
1
DIF:
3
REF:
29-3

TOP:
Money multiplier and currency holdings

MSC:
Applicative

211.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Money multiplier

MSC:
Definitional

212.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Money multiplier and currency holdings

MSC:
Applicative

213.
ANS:
D
PTS:
1
DIF:
3
REF:
29-3

TOP:
Money multiplier | Open-market operations

MSC:
Analytical

214.
ANS:
D
PTS:
1
DIF:
1
REF:
29-3

TOP:
Bank runs
MSC:
Applicative

215.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Bank runs
MSC:
Applicative

216.
ANS:
A
PTS:
1
DIF:
2
REF:
29-3

TOP:
Currency holdings | Excess reserves


MSC:
Analytical

217.
ANS:
D
PTS:
1
DIF:
1
REF:
29-3

TOP:
Bank runs
MSC:
Definitional

218.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Bank runs
MSC:
Definitional

219.
ANS:
A
PTS:
1
DIF:
1
REF:
29-3

TOP:
Great Depression

MSC:
Definitional

220.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Bank runs
MSC:
Definitional

221.
ANS:
A
PTS:
1
DIF:
1
REF:
29-3

TOP:
Federal Deposit Insurance Corporation

MSC:
Definitional

222.
ANS:
D
PTS:
1
DIF:
1
REF:
29-3

TOP:
Federal funds rate

MSC:
Definitional

223.
ANS:
C
PTS:
1
DIF:
1
REF:
29-3

TOP:
Federal funds rate

MSC:
Definitional

224.
ANS:
B
PTS:
1
DIF:
1
REF:
29-3

TOP:
Federal funds rate

MSC:
Definitional

225.
ANS:
C
PTS:
1
DIF:
3
REF:
29-3

TOP:
Federal funds rate market
MSC:
Analytical

226.
ANS:
B
PTS:
1
DIF:
3
REF:
29-3

TOP:
Federal funds rate market
MSC:
Analytical

227.
ANS:
D
PTS:
1
DIF:
3
REF:
29-3

TOP:
Federal funds rate market
MSC:
Analytical

228.
ANS:
A
PTS:
1
DIF:
3
REF:
29-3

TOP:
Federal funds rate market
MSC:
Analytical

229.
ANS:
B
PTS:
1
DIF:
2
REF:
29-3

TOP:
Federal funds rate market
MSC:
Analytical

230.
ANS:
C
PTS:
1
DIF:
2
REF:
29-3

TOP:
Federal funds rate market
MSC:
Analytical

